8 An insurance company has an obligation to pay the medical costs for a claimant. Average annual claims costs
today are 6750, and medical inflation is expected to be 3.25% per year. The claimant is expected to live an
additional 16 years. Claim payments are made at yearly intervals, with the first claim payment to be made one
year from today, Find the present value of the obligation if the annual interest rate is 5.8%,

- 2 A
750( hon2s) b750(1 08267 , . 7D 0325)
f t

i = I

Method |+ Basic Principods

e o bA . i %
TN (TR 750 (1O%2SV)" & - - o b yTED(03 2 V)

o) |
i f ?,2{ UJ ) s . ‘_..,«\'v-i-"-‘-‘-"“v‘ i
= 750 (0B e, M3 ) J Whiat VE - py0.08%

_! = i ‘)r} L}""J \f’

- 38284, ’?5] i

‘@MJ&?@wmﬁw&meﬁmwgwﬁmﬂ?

e

2 \
¥ B A ;'\“ e ot sepmerm T
L06% / j :ﬁa%?:;m,;gj

oy = 750 [;ﬂw:v 4“ dm:zs\f) o () ﬂ?xzn\f) ]

3 = 99“36 |
- ik [0B2EY T I = e =\
Find 4 such rhat | LOSE 4 4

[,0%25 + f.o’ézqé - 1. 06%
fjc) T\,JO-{"@" l;\.}’{y ‘[’\;_r-{_.'\_}"-e_
- ) 5 . é‘i:p- _ = 5.
Py = b7sP _["f} Y o T ] = (ﬂbowai

Nzl T/ 2.409°1357 PV:«@'[} ImT= ~15D Eyv=p

P\/ Eﬁ‘é Qﬁ

: 3 - Mar T = 1y . s\ |
Note:, TH =25 ;’? }a.g"jj._\&z;ﬁ ffjmri Lpbpg ks TEA s 4 A @1 ad f v, l;



AT T

’] @. An annuity pays | at the end of the first year, The payments increase by 2% for the next 7 years, the payments
increase by 9% for the following 10 years, and then the payments increase by 11% forever. Calculate the present
value of this annuity given an annual effective interest rate of 15% .
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g ®. An annuity-immediate paying X at the end of first year, with each subsequent payment decreased by 50 for the
following 17 years (for a total of 18 payments), has a present value of 35,985. If i = 0.7%, calculate X.
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q B 3000 is deposited into Fund X, which earns an annual effective rate of 7%. At the end of each year, the interest
earned plus an additional 300 is withdrawn from the fund. At the end of the tenth year, the fund is depleted.
The annual withdrawals of interest and principal are deposited into Fund Y, which earns an annual effective rate.

of 9%. Determine the accumulated value of Fund Y at the end of year 10,
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\Q ©. A perpetuity immediate pays out 130 semiannually for the first year, From then on the payments increase by 25
every year. Given the annual effective interest rate is 4%, find the purchase price of this perpetuity.
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